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(2)
Attempt A4/l questions.
All questions carry equal marks.

wft T wife
wft g # o wEw €
Explain the provisions of minimum alternate tax (MAT)

under Section 115]B of Income Tax Act 1961. Is a foreign
company also liable to pay MAT? 15

IFT Sfufram, 1961 F 9 11518 F snta =<mam
faedt w1 (H2) & Suadl F v Hifo s fevh
FHA ot #T A # et ¥

Or /A9

From the following information compute the tax liability
of X & Co. keeping in view the provisions of MAT
u/s 115JB for the assessment year 2011-12 :

Profit & Loss A/c

4 L4
To Expenses relating By Long term
to business 4,50.000 capital gain| 1,00,000
To Ingome lax paid 20,000 | By Sale 7,00,000
To General reserve 40,000
To Provision for
contingent liability | 40,000
To Proposed dividend | 1,00,000
To Balance c/d 1,50,000
8,00,000 8,00,000
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Brought forward loss as per books of account ¥ 1,00,000.

Brought forward depreciation as per bodks of account
T 80,000.

Brought forward loss under the head capital gains (computed
as per income Tax Act) ¥ 60,000.

Brought forward unabsorbed depreciation ¥ 3,00,000.

fruftor = 2011-12 % o @ 115113#3@13?13%
It & IR | e g frefafed ge T & X & Co.
) F T w1 AEET wif .

A-gi T
T 2

FER F g e defima
Y 4,50,000 | tfsremsy 1,00,000
WH I 20,000 | foset @ 7,00,000
o R 40,000
yEiE <aa #
e sy 40,000
WA ST 1,00,000
s 9w 1,50,000

800,000 | 8,00,000

[P. T O
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qW THEH D SR W @ T 1,00,000
AT TEH F FTER ST TEEE T 80,000

e ol sfvendt # sfa ol afy (s
sfufrm & R sifEfewd) T 60,000

MG SR gead ¢ 300,000

2. XYZ Ltd. needs a component in an assembly operation.
It is contemplating a proposal to either make or buy the

aforesaid component.

{a) If the company deéides to make the product itself,
then it would need to buy a machine for ¥ 8§ lakh
which would be used for 5 years. Manufacturing
costs in each of the five years would be Z 12 lakh,
¥ 14 lakh, T 16 lakh, T 20 lakh and T 25 lakhs
respectively. The relevant depreciation rate is 15%.
The machine will be sold for Z 1 lakh at the beginning
of the sixth year.

(b) If the company decides to buy the component it
would cost ¥ 18 lakh, T 20 lakh, ¥ 22 lakh and
% 34 lakh respectively in each of the § years.

The relevant discounting rate and tax rate are 14% and
30.9% respectively.

Additional depreciation is not available. Should XYZ Ltd,
make the component or buy from outside? 15
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XYZ Ltd. P TF THRR =6 § TF T5 #t 31avas:d
¢ T T TRE W R W Y s
& T W Al W ‘
(F) ofg o ft & A @d T\ T ffy o}, @
T T 8 e § T wE e e, o s
v foran e | e aut F @ wdw F fafmin
W A T 12 W, ¥ 14 O, 16 9@, T 20
AR T 25 @ e W eaEE ® 15%
T o B 9 B amw A 21 @ | ey

(@) R ot & 9 wlied = frofg 3 &, A 5 9
% YOF T8 ¥ TEE! O FAv: T 18 @,
$20 9, ¥ 22 9@ IR ¥ 34 @@ an

T S TSR W W FHW: 14% R 30.9% T

AfEd YeIgd 39 T ¥ XYZ Ltd. 9 71 yei

ST IR @ R 8 @dlga e rfi 2

Or/34aar
Discuss the tax provisions with respect to dividend policy

and issue of bonus shares under the Income Tax Act,

1961.
et AfufEm, 1961 & rada ey Aify s
a9 Vgl ® i oS e e see w1 faem
Ff '

[P. T. O.
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3.

A plant is to be purchased for ¥ 10,00,000. The depreciation
rate is 15% and the corporate tax rate 30.9%. The weighted
average cost of capital is 10%. The life of the machine
is 10 years. A loan of ¥ 7,50,000 can be had by accepting
public deposits at the interest of 9% per annum for financing
the investment in plant. It is assumed that the public deposits
are repaid after 10 years. On the other hand, the asset
can also be obtained on lease. The lease rentals are at
the rate of ¥ 3,40,000 per annum for primary lease period
of 5 years. Beyond this peppercorn, rentals of ¥ 6,000
per annum are to be paid. A lease management fee of
¥ 10,000 per annum is to be paid on the inception of the
lease. As a tax consultant, which option would you advice

to be opted ?

(@) Purchase of asset from own fund
(b) Use of public deposits

(¢) Take the asset on lease. 15

Th WA BT 10,00,000 F @l W ¥ gemmE
15% ¥ ol fm X 2 30.9% %1 & F wifte ol
A 10% ¥ T W SHed 10 o w1 ) g d
faw & fanirm & fow 9% =9 w adefe fiam
TR FE R/ T 7,50,000 F B W fFA S g
¥ T W A T ¥ e weetE fa R 10 9d
& 9% R S| gEd SR, ufemfy # o wosh
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ferm =1 weha &1 @ fRen s @ ) wefe @@
srafy & faw T 3,40,000 Ifé® &t W ¥ 3w T
% fete % afefis, T 6,000 ired fammn e smem
g F IR H T 10,000 AE I Yo [ew o R
M | T IR % w9 F a9 few fowen = g
F Temg N ?

(%) s Ay @ qfgwmfy &t =@lg

(W) g Fd =1 Iudm

(M qRwfs #: g2 | A
Or/Rgdr

(a) At the times of financial crisis, under what
circumstances you will prefer demerger and slump

sale in context of tax planning? 7

(b) Explain the special provisions in respect of
newiy established units in Special Economic Zones

(SEZ). %
(%) fotim dwe % w99, foq offtafisi § amyg
- & T A e faffers v wh
fapg = @< H1?
(@) fodm afder SR (SEZ) & T A wnfua sl
% ar § fod Suell @ ww wifsm
[P.T. O.



9993D (8)

4,

(a) Explain the provision of Section 79 for carry forward
and set off of losses in the cases of certain
compantes. 12

(b) Explain arm’s length price. How is it computed under
Section 92C of the Income Tax Act, 19617 7%

(F) %7 F fadw & el & afel = s
3R wife #01 & R A 79 & fdhy Iai
F TR Hiag

(@) Arm’s length price 1 T FIST | T aifufam,
19613#%920%%%3&&5@[%7{@%3
- fEm S ¥ 2

Or/R4ar -

Y (24 years) and Z (26 years) are residents in India. The
following points are noted for the previous year 2010-1
from the books of accounts :

Y Z
? T
Income from a business in India| 80,000 | (-) 1,30,000

Income from business in
Argentina (India does not

have ADT agreement with

Argentina) 1,30,000 4,00,000
Income from other sources

in India (bank interest) - 60,000 80,000
PPF contribution 16,000 1,500
Tax levied in Argentina 39,000 20,000

Find out their tax liability for the assessment year
2011-12. 15
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Y (24 9) 3R Z (26 o) wa T fraredt § 1 S g

%ﬂjaﬁfmou%mﬁrﬁrﬁﬁmﬁgﬁﬁem
T E

Y| z
z 4
IR H FRER ¥ 3w 80,000 | (-) 1,30,000
SR H HRER ¥ Y
(VW 1 SR & g
ADT &R & %) - 11,30,000 | 4,00,000
ua ¥ o W A o
(¥ =) 60,000- 80,000
% ufrss f4fy sivem 16,000 1,500
I B e T 39,000 20,000

fruity 59 2011-12 & fele T a1 wa &

Discuss the benefits available under the Income Tax
Act in case of amalgamation of companies to the

following :
(a) The amalgamating company
(b) The amalgamated company

(c) The shareholders of amalgamating company. 15

[P.T. O.
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